Components:

90000651
90000652
90000895
90001942
90000202
90000277

N N N DN P P

Hardware:

2 99621008
2 99622006
4 99563001

ridetech = =

Air Ride Technologies

350 S. St. Charles St. Jasper, In. 47546
Ph. 812.482.2932 Fax 812.634.6632
www.ridetech.com

Part # 19011499
Mustang Il Lower StrongArms
For Use with CoolRide

Driver side lower arm

Passenger side lower arm

Ball joint — includes castle nut, cotter pin, grease fitting & boot
Rubber bushings — pressed into arms

Gusset for cross member

7.75” steel spacer

Steel spacer for ball joint — may not be needed on some cars

5/8”-18 x 12” bolt
5/8”-18 Nylok jam nut
9/16” USS flat washer


http://www.ridetech.com/

STRONGARMWS

by Air Ride Technologies

Installation Instructions

ARM 1000 INSTALLATION INSTRUCTIONS
EXAMPLE A

SET FORE/AFT SPACING WITH WASHERS

11
CENTER WITH
FRONTA | [— CROSSMEMBER
WELD — yac @i

»
%/ TN

SET FORE/AFT SPACING WITH WASHERS

CENTER WITH
CROSSMEMBER

] DRILL AND WELD
Spacer Placed Thru

1.375" hole drilled in rear
. side of crossmember



STRONGARWS

by Air Ride Technologies

Item #

Description

Q
<

Driver side arm

Ball joint

Rubber bushing

Frame gusset

Frame spacer

5/8”-18 x 12" bolt

5/8”-18 Nylok jam nut

O IN|@O1RAIWIN -

9/16” USS flat washer

N[(R (R R R[Nk




